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RELACAO DO AGO

P1 7xP2 P5
P7 P8 P10
P12 P13 P15
P16 P17 P20
P21 V10 V11
V12 V13 V14
% V15
% ACO N DIAM | QUANT | C.UNIT | C.TOTAL
w (mm) (cm) (cm)
CA60 1 5.0 26 21 546
2 5.0 286 71 20306
3 5.0 126 73 9198
4 5.0 26 97 2522
5 5.0 26 24 624
6 5.0 26 77 2002
7 5.0 26 21 546
8 5.0 26 75 1950
9 5.0 205 91 18655
10 5.0 2 244 488
CA50 11 6.3 3 95 285
12 6.3 3 63 189
13 6.3 4 453 1812
14 6.3 1 93 93
15 6.3 1 91 91
16 8.0 4 464 1856
17 8.0 1 140 140
18 8.0 1 117 117
19 8.0 2 487 974
20 8.0 1 159 159
21 8.0 2 163 326
22 8.0 2 478 956
23 8.0 1 279 279
24 8.0 2 472 944
25 8.0 2 483 966
26 8.0 2 766 1532
27 8.0 2 457 914
28 8.0 2 115 230
29 10.0 42 356 14952
30 10.0 50 303 15150
31 10.0 1 154 154
32 10.0 1 157 157
33 10.0 1 202 202
34 10.0 4 486 1944
35 10.0 1 461 461
36 10.0 2 468 936
37 10.0 2 497 994
38 10.0 1 190 190
39 10.0 2 1200 2400
40 10.0 2 257 514
41 12.5 18 303 5454
42 12.5 4 356 1424
43 12.5 36 100 3600
44 12.5 2 488 976
45 16.0 6 100 600
RESUMO DO ACO
ACO DIAM C.TOTAL | PESO +10%
(mm) (m) (kg)
CA50 6.3 24.7 6.6
8.0 93.9 40.8
10.0 380.5 258.1
12.5 114.5 121.4
16.0 6 10.4
CA60 5.0 568.4 96.4
PESO TOTAL
(kg)
CA50 437.3
CA60 96.4

Volume de concreto (C-30) = 4.25 m?
Area de forma = 87.46 m?
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